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Examlet 2b Foundations of Advanced Math 2/24/17

(a) Whatis {1,2} n{2,3}?
{3
(b) Whatis (1,2) N (2,3)?
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(c) Whatis[1,2]N[2,3]?
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(d) Whatis {1,2} U {i, 3)?
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(e) Whatis (1,2) U (2,3)?
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(f) Whatis[1,2]U[2,3]?
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(g) Whatis {1,2} —{2,3}?
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(h) Whatis (1,2) — (2,3)?
(1.2)
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2. (a) State the definition of
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(b) LetZ* = {njn € ZnS 0} A, =[L,1]Vvne z“ what is
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3. (AUB)Y =A'NPB
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AQUBi=U(AﬂB,~)
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5. (a) Ifa>0and b >0, thena+b> 0.

a>0
’a_ﬁ}_b_ by CA.P.
,a&E>L>0, <o ath>0 by T.p 1.2
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(b) Ifa<0and b >0, thena-b <0.

A<=0.
0\~béo'b bug, (—-M-Pv since. b>o.
a-b<o

,Fm/mk’ ,
i



